
   

 

 

 a) 𝑎⃗ = (5,2)  

 

 

 

  Modulo: 

|𝑎⃗| = √52 + 22 = √29 

  Dirección:  

𝛼 = arctan (
2

5
) 

𝛼 ≈ 21,8° 

 

b) 𝑏⃗⃗ = (−2,3)  

 

 

 

Modulo:  

|𝑏⃗⃗| = √(−2)2 + 32 = √13 

 

  Dirección:  

𝛼 = 180° + 𝑡𝑎𝑛−1 (
3

−2
) 

𝛼 ≈ 123,7° 



   

 

c) 𝑐 = (−3, −4)  

 

 

 

  Módulo:  

|𝑐| = √(−3)2 + (−4)2 = 5 

  Dirección:  

𝛼 = 180° + 𝑡𝑎𝑛−1 (
−4

−3
) 

𝛼 ≈ 233,13° 

 

d) 𝑑 = (2, −5)  

 

 

 

   Módulo:  

|𝑑| = √(2)2 + (−5)2 = √29 

  

Dirección:  

𝛼 = 360° + 𝑡𝑎𝑛−1 (
−5

2
) 

𝛼 ≈ 291,8° 



   

 

 

 𝑎⃗ + 𝑏⃗⃗ = (3,5)

 𝑏⃗⃗ − 𝑐 = (1,7)

 𝑏⃗⃗ + 𝑐 = (−5, −1)

 |𝑎⃗ + 𝑏⃗⃗ + 𝑐| = 1

 |𝑎⃗| + |𝑏⃗⃗| + |𝑐| = 5 + √29 + √13

 𝑑 ⋅ (𝑎⃗ + 𝑏⃗⃗) = −19

 

 (
8

√89
,

5

√89
)

 (
3

√10
,

−1

√10
)

 (
11

√137
,

4

√137
)

 (1,0)

 𝐴𝐵⃗⃗⃗⃗ ⃗⃗

 
1

3
⋅ 𝐴𝐵⃗⃗⃗⃗ ⃗⃗ = (0, −

2

3
)

 
1

3
⋅ 𝐴𝐵⃗⃗⃗⃗ ⃗⃗ = (−1, −

1

3
)

 |𝑎⃗ + 𝑏⃗⃗| = √129 |𝑎⃗ − 𝑏⃗⃗| = 7

 |𝑏⃗⃗| ≈ 5,8

 

 Horizontal:  ∑𝐹𝑥 = 10 cos(37°) − 10 𝑁
Vertical:   ∑𝐹𝑦 = 10 sen(37°) − 10 𝑁 

 (5 cos(35°) , 5 sin(35°)) ≈ (4.10, 2.87)

 |𝐹𝑐
⃗⃗⃗⃗ | ≈ 118,34 [𝑁]


